
1. %@x.@L%3?-4h$k&.%froT :75,70,50, 83, 55,90, 80, 75, 73, 85,65, 72,68, 87,60,95,68,45,75,72, 

82,67,69,83,75,74,80,71, 68,62 $8.16 $$jt"tR&S#&& : 40-49.50-59.60-69.70-79.80-89 . 
90-100 

(a) $d?~:k&AE%?tt%?B€& ; (6%) 

(b) A6:k&5?E€.@%&2i3j-Bd (Histogram * X4$+&4&l3l ) : (7%) 

(c) AGE %? tt&B€.@%& Si flj tt4~1 (Pie chart) (7%) 

2. %*R%N$t'P?-4a fl XdtkBP%%%fi$ '$%~+%J~$&x$#,&x~ & ' 4&N%&&t$  Y j   fro^ : 

$$$$i!$i% x ,  Y *%% &t$Z$1 161 $i t ro7 : 
! 

(a) h i 3  $i&$lSj$ ( Linear regression) 3R jW( hk ? (10%) 

3. q $@&tff ?-4h%t;)aa%%fi&%$$&4#Ms Ffi#$$$+frjtfroT : 105,85,70,160,62,50,90,70,27,129 

%&42L'A~&#&5%344$43& : 

(a) +)$I& M (Mean) ; (5%) (b) 9 4h& Md (Median) ; (5%) (c) $& Mo (Mode) ; (5%) 

(d) +EE o ( Range ) : (5%) (e) 3% + f19 SD ( Standard deviation ) (5%) 

(a) %&$A I.l @ ( K. Pearson ) f# 2 $1 161 ;ik J ( product-moment correlation ) 

42X&Yt$a1614%&rXY ? (15%) 

(b) i&b4 r t # % ~ & J  & r & ~ & . f & J  P%%<B.'IIZ+RRI . R $ R A I & $ + ~ R I ?  (5%)  

(c) $(b)% %$*&%Sf- & & " ( 5% ) 


